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Sin =1/Csc

Cos =1/Sec

Tan =Sin /Cos

Sin2  + Cos2 =1

Sec2  - Tan2 =1

Csc2  - Cot2 =1

Sin2 =  - Cos2

Sin2 =1- Cos2

1- Cos2 =  - Cos2

Cos2 =  + Cos2

Cos2 =Cos2 -Sin2

Sin2 =2Cos Sin

SinX SinY= [Cos(X-Y)-Cos(X+Y)]

CosX CosY= [Cos(X-Y)+Cos(X+Y)]

SinX CosY= [Sin(X-Y)+Sin(X+Y)]



D-2

Cos(X+Y)= CosX CosY - SinX SinY

Cos(X-Y)= CosX CosY + SinX SinY

Sin(X+Y)= SinX CosY + SinY CosX

Sin(X-Y)= SinX CosY - SinY CosX

= =

P=(A+B+C)/2

=[P(P-A)(P-B)(P-C)]1/2

A2=B2+C2-2BC Cos

= tan (45 )  

= tan (45 + )  

1-sin
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dx
=

=

= Sec

Sin = 1/ (1 x )

Cos 1/ (1 x )

Tan = 1/(1 x )

f’(x)= ( )

(f+g)’(x)=f’(x)+g’(x)

(fg)’(x)=f(x)g’(x)+f’(x)g(x)

( ( ) = ( )
[ ( )]

( ( ) = ’( ) ( ) ( ) ’( )
[ ( )]
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=
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dx=lnx + c

= +

+

= +

1
+

=
1

+

=
1
+ 1

+

=
1

+ 1
+
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( )( )

 m & n 

 Sin2 =  - Cos2

     Cos2 =  + Cos2

( ) ( )

( ) ( )

( ) ( )

 SinX SinY= [Cos(X-Y)-Cos(X+Y)]  

     CosX CosY= [Cos(X-Y)+Cos(X+Y)]

     SinX CosY= [Sin(X-Y)+Sin(X+Y)]
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( )( )

 m or n 

 Sin2 + Cos2 =1

     Sin2 =1- Cos2

     Cos2 =1- Sin2

xdx=

=-cosx +

Sin3x=Sin2x Sinx

=(1-Cos2x)Sinx

=Sinx- Cos2xSinx

 = = +

u=Cosx

du=-sinxdx

u2=Cos2x
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( ) = ( )

 Sin2 =  - Cos2

 Cos2 =  + Cos2
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+

=
1

+
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 Chain Rule

( ) =
1

( ) +

u=mx,  du=mdx   dx=du/m

= = +

( ) =
1

( ) +

= = +

= x+c

u=Sinx,  du=Cosxdx   dx=du/Cosx

= = + = x+c

= x+c

u=Cosx,  du=-Sinxdx   dx=-du/Sinx

= = + =

x+c


